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* 1 irreducible components of dim¢ = 0, with total 38 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIP=(u®—u"+..- —u+1)

(i) Arc colorings

e ()

o= (o)
1
ag == u
(62
( ")
u? —|— Ju?+1
= —ut — 202
—u® —2u

a3 = \ud +3ud+u

u8—|—5u +rut +2u? +1
a7 = —u® — 4ub — 4yt

12+7u10+17u + 16uS 4 6u* +5u +1

a; = — 6ut0 — 1248 — 8ub — u* — 2u?

u?? + 16" 4+ - +8ud —u
az = \ —y?9 15u27—|— 4wl +u

ul® 4+ 9u' + 3102 + 50u'® + 39u® + 2208 + 18u + 4u? + 1
a6 = \ —u!8 — 1000 — 39¢ — 74412 — 71010 — 4008 — 2618 — 12u* — u?
ul® 4+ 9utt + 31ut? + 50ut® + 39u® + 2208 + 18ut + 4u? + 1
ag = \ — 18 — 10u!0 — 394 — 74412 — 71010 — 4008 — 2615 — 12u* — w2
(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u3"+4436 —8443% + 76134 — 788133 +640u3? —4348u3! +3136u3° — 15652127 +9876u8 —
38648u?7 420892120 —6749612° +30388u>* — 86252122 +31308u?2 —85720u?! +24576u20 —
72004u" + 16236u'® — 52428u'7 + 8440u'6 — 31340u'® + 22444 — 15844413 — 364u'? —
7264utt — 73610 — 24761 — 65618 — 756u” — 360u’ — 144u° — 84u* — 52u3 — 12u? — 12u+2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs w3 —u+1
C2 w17 4+ 3u 1
C3,C4,Cg u38_u37+_,__u+1
cy
c7,€10,C11 u® —5u3" - —25u+3




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs Y+ 17y - + 3y + 1
€2 Y+ 9% 19y + 1
C3,Cy4,C8 y38+41y37_~_.._+3y+1
Cg
Co yB 4y T+ 35y 4+ 1
€7, €10, €11 Y8+ 37y + -+ 59y +9




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = 0.635381 4 0.5447781

4.89318 + 8.992551

2.54683 — 8.057261

0.635381 — 0.5447781

S
I

4.89318 — 8.992551

2.54683 + 8.05726.1

—0.637190 4 0.5252541

S
I

6.72503 — 3.703471

5.40296 + 3.465841

= —0.637190 — 0.5252541

&
e
|

6.72503 + 3.703471

5.40296 — 3.465841

—0.646186 4 0.4761051

6.87083 — 0.634351

5.86902 4 2.861671

—0.646186 — 0.4761051

6.87083 + 0.634351

5.86902 — 2.861671

0.651941 + 0.4545111

5.16060 — 4.643891

3.40172 + 1.996851

0.651941 — 0.4545111

5.16060 + 4.643891

3.40172 — 1.996851

0.587799 + 0.4986341

1.34506 + 2.009291

—0.48209 — 3.495561

0.587799 — 0.4986341

1.34506 — 2.009291

—0.48209 + 3.495561

= —0.330816 + 0.6360611

—2.01726 — 5.476171

—3.09870 + 9.174861
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= —0.330816 — 0.6360611

—2.01726 4 5.476171

—3.09870 — 9.174861

u = —0.144727 4- 0.6603291

—3.03329 + 1.009091

—7.12564 + 0.282351

= —0.144727 — 0.6603291

—3.03329 — 1.009091

—7.12564 — 0.282351

—0.018847 4 1.3841101

1.16696 — 5.746221

U
u = 0.301795 + 0.5209511
u = 0.301795 — 0.5209511

—0.018847 — 1.3841107

1.16696 + 5.746221

u = 0.03046 + 1.452121 —4.91125 4 2.217691 0
u = 0.03046 — 1.452121 —4.91125 — 2.217691 0
uw= 0.19314 + 1.482351 —1.12742 — 1.626261 0
uw= 0.19314 — 1.48235] —1.12742 4 1.626261 0
u = —0.19488 + 1.497611 0.43075 — 3.647941 0
u = —0.19488 — 1.497611 0.43075 + 3.647941 0

u= 0.379571 + 0.2963731

0.630271 + 1.0533601

5.17597 — 5.213671

u= 0.379571 — 0.2963731

0.630271 — 1.0533601

5.17597 +5.213671

u= 0.17234 + 1.522861

—5.33654 4 4.723781

0

uw=0.17234 — 1.522861

—5.33654 — 4.723781

0

u = —0.448691 + 0.1249371

—0.48331 4 2.761501

3.31371 — 3.041661

u = —0.448691 — 0.1249371

—0.48331 — 2.761501

3.31371 + 3.041661

u = 0.06806 + 1.53625]

—6.95274 4 2.614321

0

u = 0.06806 — 1.536251

—6.95274 — 2.614321

0




Solutions to I V—1(vol ++/=1CS) | Cusp shape
u = —0.19702 + 1.526281 —0.02756 — 6.722331 0
u = —0.19702 — 1.526281 —0.02756 + 6.722331 0
u=0.19796 + 1.536051 —1.97382 4 12.021701 0
u=0.19796 — 1.536051 —1.97382 — 12.021701 0
u = —0.03796 + 1.561181 —10.49980 + 0.358361 0
u = —0.03796 — 1.561181 —10.49980 — 0.358361 0
u = —0.08099 + 1.561071 —9.41307 — 6.911527 0
u = —0.08099 — 1.561071 —9.41307 4 6.911521 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs uB - 4 —u 1
C2 17+ 3u 1
C3,C4,C8 u38_u37_~_.“_u+1
Co
6 ¥+t
C7,C10,5C11 USS 75’&374’ *25LL+3




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢ yB 17y 43y + 1
€2 Y4+ 9y 19y + 1
C3,C4,C8 v 41T+ 43y + 1
€9
Ce y® T 35y + 1
¢7, €10, C11 y*® + 3793+ + 59y + 9




